MATH 202.5 (Term 152)

Quiz 4 (Sects. 4.6 & 4.7) Duration: 20min

Name: ID number:

1.)(5pts)Solve the DE: y" + 6y + 8y = cos ¢2*.

2.)(5pts)Solve the DE: z3y"” + 32%y" + zy/ +y = 0.
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MATH 202.10 (Term 152)

Quiz 4 (Sects. 4.6 & 4.7)

Name:

Duration: 20min

ID number:

641
edr o4z *

1.)(5pts)Solve the DE: 3" — 16y =

2.)(5pts)Solve the DE: z3y" + 32%y" + zy’ — y = 0.
"EN
A Hy= L Lol (e )
i) We so? “"3’;"' N = U X T |Le
. . ] Lo
|&s WML‘ 'Q?"’\J'U‘" Com-léss L = Ofm e <! £ =) 2
ol o = :E?— S g QM_(_EQI 7 |
= b, oy
= Lx =
=) \7C: e + (e (’\Z:L(é’v( Joc
We “e< Varilom cj( PWE‘” ¢ &kl .
—@ 3"”‘0! p- w=e T dw= U e Ndx
1
- L Ra
We ‘Cj:)& V)P:u‘j'\*qzjg) g'sﬂo&xf—igg,\,&,\aw
v - X g 6?(‘('1 Wq’:e =\
llte J 0)7,’22- :LE(_‘L>0{\V: (E \u-l-éu‘w)
«
A N BRI ) v
! I e h = W ) WL:’L (e}-—l—a;e,"x)'
Wh/\ ) e(AX 52 uy ‘\Q_\.)() Lq:\ Q"\’(
\ = o L) (e %2
W o e e g™ = Y9p="5n" ?’2(
WL ="
il Y - w | = =% J=Derle
L _ae ' ™"
e —AL WY P \g':,)& . .
\ UL d&% v e The wAMlA‘ ‘- b .
W =& o L & s '?(e%"> M (M- (M=2) ¢ S (m—1) AV =1 = O
- e %z ¢ e ] N
WX W=l » - o
—\ [ Ua L) =
u(,:\, g%;x A?{ (":\ ()CV"!‘(' A
¢ w ho= D= -k ==>
_ (T A\A/-: h € 0l.>L W— -—[‘ZE'\SE
> . .
Sey\x dn = L S rL\'\/ =L € (G &s5(% |hx)1c§§vu([1 M)
X “ w x| 2 ) v
¢ =+l (
-\ W& Co[ -7°)
— —((:, ‘\'ﬁM w




